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6.2 SOLVING LINEAR SYSTEMS BY SUBSTITUTION

Solve the linear system using substitution.

3.y =[2X + 3 4.y =8 + 4x \
¥ = 5 =2X -0
%+3=5x -8+uUux =24-6
- -2 -2X X
373 Sl
=R 2 T y=2))-¢
y=2(1)+3 X=l V=26
y= 2+ 5 _ Y=~
y=5 (h=4)
(1,5)
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This method is BEST to use
when one of the variables
in either equation
has a coefficient of 1 or -1 .

Solve the linear system using substitution.

: y:x-i-) —_— Xt X+ ] =2
2X+y—_2 3)( .’_l:~—2
— =

y=-I+ 3 =<3

6. y =[-3x + 5} 7. x H2y
2x -V =10 2%‘%:15
2xLE3x+5) =10 2(2y) + 6y = 15
9x +3Xx —5 =10 Hy + &Y= IS5
X TS =2
5% =15 y=1.5
5 5
y=‘5(3) + 5 X= 3
Yy=-9+5
\J:-— (%),‘5>

1
(3)4;)
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If an equation is not already solved for a variable
you will need to do that first!

P|c|< the variable vv|th
a coefficient of 1 or -1. J

8. 2x+ Zy 3 Which variable should we solve for?
x—yg/— -1 X In 2nd eq.
i ] AR
X =uy-) 2(4y-1) + 2y =3
X =4(o.5)—| 9y -2 "‘Zy =3
X= 2-1

Ry i
1106‘1 -:TE/’/ “.4 R QQE

o P OaD

Which variable should we solve for?
/X + 2y =

Y In top eq.
3 4—@-':3 \9

TN N\
Fx+2(C3x452) = |
—3X -3X X —6X +6 = |
y = -3x+3

X+6 = |
y=-3(—5)+-3.\ —6 6

y=1I15+3 X =-5
y=10 (‘52 16>
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10, Tix - 7y =14 \Which variable should we solve for?
X+ 2f = 4 X in  bothom eq
. Tl e ~
X = =2y+Y N (Zy-4) — 2y =-H
=) e 22y =4 -Fy=-1IH
X =12y —Y sy -4y = -1y
Yy +yuy
x=2(2)-HY - 20
x= -4 =5
=0 =
A (0,2) y=2
n. Y= 16 Which variable should we solve for?
2y = -2X + 2 X or y in top eq,

_% +@]=_1>% \,@é)-; -2X +2
J= —Xx+l6 —‘Z(-)-.?Z: ;g-l—l.
+

3= 2
false
J

no Solution
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12. The length of a rectanqle@cm more
than 3 times its width. If the perimeter_
of the rectangle is 30 cm, what are its

dimensiofis? ¢ b leparh W
=0 I s
. L4wt L+W=
XL _ 3(34_);3 2L +2w=PFP
L= 9 22 +2wW =30
L=1z F3wik) +2w =40
(T2em by Bom e+ G 42w =10
8 + G =3D
wey HELEH

13. The school is selling tickets for a
fundraising event. The school sold 35

tickets for §86 on the first day of the
sale. &tudent tickets cost $2 sach and
chon-student tickets cost $3 2ach.

Find the number of each kind of tickit
- X = ¥ of student tickets
on the first day. y= 4 of non-sewdent 4ickebs
money 2x + 3y = 86 — 4(<+35) +3y = @¢
4 -2y +70 + 3y = 86

y TH =86
Ipswone tickets . 30

b non-stvdent \\ . 2
tickets 6 y=1%
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